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1. \ (= Xg)?'f/ 7 ~7,) ¢ ( ¢ (/(' >) /"/ 4‘/ e
Find the distanc d(P1 P, between the gﬂeip_omts P4 e ky Xi Y/ /‘,_ i
and P,. ((%) /-?)) 1"'(,/3) (4())

Py=(5.3) i < (//?S #eo)C A3~

S 1 __» )
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@ Y/ for Sample™
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(Simplify your answer. Type an exact answer, usipg radicals as needed.) y - 1/ { ¢ ( Al I//) /l 7L ’L
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Answer: /82 - q fog if/}?’ ) -/ /
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(Simplify your answer. Type an ordered pair.) / / /

y 4 U ) v
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3.
For the equation X2+ y2 =4x=2y-20=0, do the following. _mj‘y
(a) Flndtl'lQEente[/Ih k) and radius r of the clrcle ~ ] \\ 3:
(prm)me circle. L,(
(c) Find the intercepts, if any. ) A J G-
o Al
(a) The center is
(Type an ordered pair.) / 21
X
The radius is r = | | \ 5 5 5273 7 % & B
-2
{b) Use the graphing tool to graph the circle.
i
(c) Find the intercepts, if any. Select the correct choice Y/ /
below and, if necessary, fill in the answer box to complete / -6
your choice. 1
-8
() A. The intercept(s) is/are . p . ol
(Type an ordered pair. Use a comma to . L_ ! £ YT, [ =
separate answers as needed. Type )( _,'t =1 } y r . |
exact answers for each cuordinate using X" — X —t v) —2 7 = Z 0 4 j/ -
radicals as needed.) 2 L (, é ( ..9, r" L2
| ol )ty bty (H-))E 20+ ) A 4<)
() B. Thereisno mtercep{/( Xt (&( ?)/ / 7 J) ) {
,("*‘*r/ (-0)¢ ff') =Ly F(H)* - '-";/’“f’/ )
Answers (2,1 — 7= . E
@1 L/X—*(T"'"f? Z/-f/ o f‘/—r/
5 _ (
{~¢,>(/—z) t{ $=tply—r) = &% 5
Ay
1o ((—2)° —f(j -—f) =i &
g = Cenren= (2,1 Relug = 42
| oFrss I £ = 1)
X
TN ERE -
._‘ ﬂ Ce 6’/M § <
3
A0
A. The intercept(s) is/are ,' (2-246,0),(2+246,0),(0,1-421),(0,1+421) .
(Type an ordered pair. Use a comma to separate answers as needed. Type exact answers for each coordinate,
using radicals as needed.)
ID: F.4.27
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4. Solve the inequality 18 — 4x < 10. Graph the solution set.

In set notation, the solution is {x| ' }- (Type an inequality.)

Graph the solution set. Choose the comrect graph below.

O) A, S —————— () B 4—|—+—H—++1+»—+—|—»—[-H-|--|->
-18 15 -12 -9 -6 -3 0 -9 -6 -

’Duu(
}/ubu /N an /}“’“/5 70(4 A‘H\
| Ao Waa,[ Jk Clt/rw{ Joss Cas

//[ Jowrs BAC > e /7 mf/
9 g wand 1+ Ao be less l/mﬂ
f_@] 7

Vi
\ ”—— ols X < .0
o 17— o‘/r&»—c//? < o7 -l

((

,._’d/r)( = —.09

— . 75X el
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5. Find the following for the function f(x) = a2+ 4x—4.

(a) f(0) (b) £(1) (c)f(-1) (d) f(-x)
(e) —f(x) (f) f(x+2) (9) f(Sx) (h) f(x +h)

@f0)=| | (Simplify your answer.)
) f1)=[ | (Simplify your answer.)
©f(-1)=[ | (Simplify your answer.)
@f(-x)=] | (Simplify your answer)
@ -fy=[ | (Simplify your answer)
Mfx+2)=[ | (Simplify your answer)
@fGx)=| | (Simplify your answer.)
(hfx+h)y=[ | (Simplify your answer)

Answers -4
4
-4
4x2 -4x—-4
—4x%-4x+4
4% +20x+20
100x° +20x - 4

4x% +8hx +4h> + 4x+4h -4

ID: 1.1.43
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6. Find the domain of the function.

fo) = 1/4x -12
The domain is :__—_l (Type your answer in interval notation.)

Answer: [3,00)

ID: 1.1.59
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7. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x)=5x+8; g(x)=7x-6 (4)/5// = _
(a) Find (f + g)(x). r'/// 0 - ) ; o “}
(f+g)(x)= (Simplify youranswer)‘r/) “t (7(76/ . ’(// ///
SXo LA/ X—( °
What is the domain of f + g? Select the correct choice be ow and, |f necessaw ,ﬁll m e answer box to complete your

choice. (_ /ZJ(,—/ Z ‘-_‘, (,

() A. The domain is {x - } (p —4 )
(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed. ,
) //f{ / ’—-j (€% ) -

() B. The domain is {x| x is any real number}.
(5 xrg) — (A6 ) - - \wm\ \}
(b) Find (f- g)(x).

X f —/Xr¢
(f-g)(x) = (Simplify your anSWe{) Z,(”'f’/Y . l{ {M /1/ )

What is the domain of f — g? Select the correct choice below and, if necessary, ﬁll in the answer box to compléte your

choice. (J[ s ) }(/
() A. The domain is {x| }. ;[/() ¢ 5&)

(Use integers or fractions for any numbers in the expressmn Usea comma to separate

answers as needed.) (5 Lx g)(//( ‘) -

() B. The domain is {x| x is any real number}. N

S5x —B0x £ 5 _{,.,../._/ ”(me )

(c) Find (f« g)(x).

- s ndt
(f-9)(x)= (Simplify youranswer{ S”)/ T’/C’ )( Vb; \ 6 ')/ f'*/ ,}

What is the domain of f- g? Select the correct choice belnw and, if necessary, fill in the answer box to com at&yolfchmce

A. The domain is {x } ( ) )/ﬁ(/

(Use integers or fractions for any numbers in the expression Use a comma to separate

answers as needed.) 4 (_;} £
B. The domainis {x| x is any real number}. X’f’/ ' S LA

f e [{'F“‘\‘f'-//"?/~ ¢ = O
: = ) e 4G = UG
X—b .
m() S— w6
N ae

(Simplify your answer.) /
. g
% 7

f Ly
What is the domain of —g—‘7 Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

Q/f-i//// (Ler L | /'7 A

\ 2

1

' A. The domain is {x|
(Use integers or fractions for any num?rs in the expression. Use a comma to sepa\‘at .

answers as needed.) ’l__{_j/ﬁ// 205 )7L - <Ckc erw.‘_\ -1.
&17“7//\() %(/’/L

(e) Find (f + g)(4). . f.J/’
) (¢ /

- =i

) B. The domain is {x| x is any real numbe

50f52 e— 10/11/2019, 8:13 AM
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(f+9)4)= (Type an integer or a simplified fraction.) ( /_ J //3(/ 2 ”"Z/'( -/ 7

(9 Find (f- )(3). —9/ (3) =3 )7y
£—) (3)z 67/

—5,(3)=
(@) Find (f+ 9)(2). ¢35/ =g \V o

(fe9)2)= (Type an integer or a simplified fraction.) 0})5(/ o ’S')( ’L + 26)(-— Yf
(h)Find[é]U). (}(3) 55(U -1 €6 (¢)- t/a’

£ 5) () =300 +26(2)~

M= (Type an integer or a simplified fraction.)
fRpm— Les) (7)- 35(C) T 26(2)~ 58

Answers 12x + 2 / / (Z) /%17 (o 2 g.ﬁ — Lf'?
B. The domain is {x| X is any real numbe?/ ,.,,D/ (—) 2 /9 Z - C/ 5

-2x+14

\
B. The domain is {x| x is any real numier}. g / C'Q) . /(/ o —

35%° + 26x - 48 S”:-(’/ 2?7
B. The domain is {x| X is any real number}. ( ){')(/ 7){ 4

5x+8

b s

AThedoma.n.s{x| ot ) ( 7// ) "¢

(Use integers or fractions for any numbers in the expressmn Use a comma to separate answers as needed.)
50 7/ '> T f

: ( (D= F-¢

144 / 3

T e L
4 Do

f-g9)@3)= (Type an integer or a simplified fraction,

6 of 52 10/11/2019, 8:13 AM
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8. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

f(x)=x-5; g(x)= 4x2 ({‘f’j//)(

(a) Find (f + g)(x). ER) - ) i d/”" e
Cr =
=4 = */
(f+g)(x)= (Simplify your answer.)" '{/ / N b M M
= Y€ / i
What is the domain of f+ g? Select the corre?@b_gl and,_rf_nq:_e_ssa\mfll in the anyox to complete your
choice. (/, {
iz DA

0 A. The domain is {x| } I T T e e

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) v /./ i ) ){J/} .
() B. The domain is {x| x is any real number}. ( A ¢ -

fr)— )X/

(X=5 )=

(f-9))= (Simplify your answet) /
X—S5 — A L

What is the domain of f— g? Select the correct chof__belnu.and,ifmqg___m_ Il in the answer box to complete your

choice. C ¢ )( P X’

(' A. The domain is {x| | =
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.)

) B. The domain is {x| x is any real number}. < IP i ))K/J

() Find (F+ g)(x). ( = ( _96_/ L) =

(fro))=_ (Simplify your answer.) CQ)/ - Zu)( ¢

What is the domain of f+ g? Select the correct choice below and if necessary, fi II in the answe box to cnmgl;e_ti!_q_gr ,chur/

) A. The domain is {xl } ) {/

(Use integers or fractions for any numbers in the exprésmn Use a comma to separate .

answers as needed.) . Y)( )
() B. The domain is {x| x is any real number}. —l(’—’ )7 ,,%LA" )
P2 T

(d) Find( J(x) j (}< W Y p C/
f (/)/ // A/ e ()
( ](x)- | (Simplify your answer. W_l (/6~
e %_ o

f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to comple;e.jour chmce

() A. The domain is {x| }. (ir‘/-/c‘/)“ R r s

(al;J;:I Lr:tsezgi:r:eoerdf;c)tions for any num(/b/ers ;1 ;5 ;x;;essio; ;;e:) a fe:m; ;:)/sefrairate
{ ' B. The domain is {x| x is any real num ir} 7(.)/ ﬁ) S‘/g)/ﬁ) _/_[2) g
(e) Find (f+g)(3). . /__f 5 N3) - krg) 37«
ﬁ]ﬂ@/:hs+3—sw

( 1 c)/'}/ = DRI 10/11/2019, 8:13 AM
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» oL N
(f+9)(3)= (Type an integer or a simplified fraction.) (%: 7//)(/ Y -y
(f) Find (f - g)(4). 7 ‘—7‘// )= V(v ) Cop () —x

(f-g)4)= (Type an integer or a simpli ‘ fractro?'g e /9)/9// - /9/__
/——) (%) < =(/¢)+(Y— S

(fe9)@2)= | (Type an integer or a simplified fractl

ﬁ” e 4- Sl

= =G f__‘/

(9) Find (f+ g)(2).

i
(h) Find [g] (3).

f
[E] (3)= | (Type an integer or a S|mpllfa fraction.)

/)fi/ i 3# 2o
z% = sacert

BTr;edomam-s{xlx'sanvrea'“““’be’}é/ /( /)z e )) —20(2)(2)
9l(2)= 32 — 5O

G2UE f-mf P4

B. The domain is {x[ x is any real number}.
(/ ),
4> )// (// L

A. The domain is {x[ | |8

(Use integers or fractions for any numbers in gte expression. Use a comma to separate answers as needed.)

34 )(') = (/=% | Lo "ﬂw)
- 65 C{/B)z il =

Answers 4x2 +x-5

B. The domain is {x| x is any real num

4x - 20x

48 /7
) A '
1 / Uy
ET P
ID: 1.1.69
9. f(x+h) f(x)
Find the difference quotleﬁ‘tsoff that is, find ————, h# 0, for the following function. Be sure to simplify.
(m;/ 7 (tgh) 1) ~(x 7 i) .
f(x) = X2 -7x+9

A
f(x+h) f(x) (,(/31/6( 1h) — /r "74*? X ”f”/,\/;‘f —
Sp———
,,//E.L Xh— KA — ){ 74 ;/,‘ —»/(‘F%//

Answer: 2x+h -7
O N ——

ID: 1.1.83 4] - ; | N

S CTXAN =T

f//) h /7 \-—\;_—____-—_"_ _':___:_,_—/

8of52. ) _ 10/11/2019, 8:13 AM
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10.  Given f(x) = x2 - 2x + 2, find the value(s) for x such that f(x) = 37,

The solution set is { | E}-

Answer: - 5,7 ’(’ ..__g(_(z — 5" 7
o L Fevot
ID: 1.1.91 A/a ('( *L 3 7 i

7X:F__ 73 ___(‘-‘-

G&rﬁj & =7) =
Vtrcm O X-75
S a3 Ol —-—7’7&7"“)7‘7

/(~ /—fé - /

10/11/2019, 8:13 AM
/
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11.
Determine whether the graph is that of a function by using

the vertical-line test. If it is, use the graph to find

(a) its domain and range.

(b) the intercepts, if any.

(c) any symmetry with respect to the x-axis, y-axis, or the
origin.

Is the graph that of a function?

(\ 4 Yes
No

If the graph is that of a function, what are the domain and range of the functmn? Se[ect,the correct choice below and fill in
any answer boxes within your choi 44
y ithin your LCE (/f /ru‘z-‘*) _ (l_z ’L)zi’l./ ‘(,J-Uq

A, Th domamls( @9 ’f) Th range is (" P\ﬁ/ Lf.‘{ _

(TyPe-yoiir answers in interval notation)
() B. The graph is not a function.

What are tha@ierc;apts?? Seiec‘ithe correct ch?lce below and fill in any answer boxes within your choice.
~ -"}(,w\ A0 r }f
e 3 < ‘) v s ley |47 gt
oa (=8,0),(709), (9.
(Type an ordered pair. Use a comma to separate answers as needed.)
(O B. There are no intercepts.

() €. The graph is not a function.

Determine if the graph is symmetrical.

A. It is symmetrical with respect to the x-axis.
\,"B It is symmetrical with respect to the y-;xis._ M
L’E ETsw—mméﬁcaT with resy:;eét to the origin.

D. The graph is not symmetrical.

E. The graph is not a function.

Answers Yes

A. The domain is (=o00,00) .Therangeis (= 00,4] .(Type your answers in interval notation.)

A. (8,0),(- 8,0),(0,4)'(Type an ordered pair. Use a comma to separate answers as needed.)

B. It is symmetrical with respect to the y-axis.

ID: 1.2.21
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12. Using the given graph of the function f, find the following.

(a) the intercepts, if any S ¢
(b) its domain and range Q’S | "7)
(c) the intervals on which it is increasing, decreasing, or constant

(d) whether it is even, odd, or neither

8 i 4
(i 2 (}/dl__-

'(,:/€}(amﬂ(

Al _least

(a) What are th mtercepts? £ j Fal¥]
x b R =\ 47 - A
(~5 & ) (I/f’,) /0)/2)
(Simplify your & answer Type an ordered pair. Use a comma to separate answers as needet.)

(b) The@omalms r—: &= { /f* { § -‘*)/ 2 J

(Type your : answer in interval nota ion.) ’(
Thefangels l )| j,( S [ éc’//“)"y’ 70

(Typevour answer in interval notation.)

D}umf avorile

//la r }9‘9\”’)’” }.‘I\ J

p/a (,( "f.f”’"{'
//’

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The grapfi i :s mcreasmg on [__ () C'I [ﬂ_[f ?i(

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

) A Thegraphlq’\ec;e;;?ngon [ j ’ ,( Z C,' fj

(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on
(Type your answer in interval notation. Use a comma to separate answers as needed.)

& ¢.B. The graph is not constant on any :ntewal.“h ~

(d) The functionis (1)
B
(1) (6-even.
"7 neither odd nor even.
odd.

MHof52 : 10/11/2019, 8:13. AM
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Answers (- 1,0),(1,0),(0,2)
[-3.3]
[0,3]

A. The graph is increasing on | [—1,0],[1,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-11,[0,1] .
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) even.

ID: 1.3.256
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13. For the graph of a function y = f(x) shown to the right, find the absolute maximum . ’M Gt

and the absolute minimum, if they exist. Identify any local maxima or local minima.
R

:2:.:/ (,1 qm/le ‘ i, .
l«/(’l)[\f (oss o "~~..,,‘-__.? ‘

Ginm OVPT 6 ""’(’(k

" el . . ' |

Select the correct answer bfly«!and if necessary, fill in the answer boxes to complete your choice. (A [7§J / \/k

4

- . /'/
A. The@gsoluie maximumiof y = f(x) is f( c’( Clﬂ (- (7// 7) /’W A ;S »

(Type integers or simplified fractions.)

~
n

(0 B. There is no absolute maximum for y = f(x). ( /‘L

Su
Select the correct answer hetlgv and if necessary, fill in the answer boxes to complete your choice. l'7

/ ' /K)
y
_ - o - {y ( C/) //l’l
O A T:ﬁgb_solugg_ minimum'of y = f(x) is f( A ) = / @"ﬂ ‘8 / \
(Type integers or simplified fractions.)

() B. There is no absolute minimum for y = f(x). . %
. _ \
[;) C U( \

Select the correct answer below and if necessary, fill in the answer boxes to complete your choice.

O A The¢local rhaximumj\‘y:f(x) si( Y )= 7 @W" /(/ 7) M (K

(Type integers or simplified fractions.)

C B. The local maxima of y = f(x) are f( Wf,,,,,w) = and

f( )=

(Use ascending order with respect to x. Type integers or simplified fractions.)

() €. There is no local maximum for y = f(x).

Select the correct answer below and, if necessary, fill in the answer boxes to cornpl your choice
eV ¢ y) \Mix
A. The (g}pgl minimum 'of y = f(x) is f( l ) = f . 8/ -
(Type integers or simplified fractions.)

© B. The local minima of y = f(x) are f(,,, - _;) = and

f( DE o o

(Use ascendlng order with respect to x. Type integers or simplified fractions.)

) €. There is no local minimum for y = f(x).

LS

13 of 52 10/11/2019, 8:13 AM
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Answers A. The absolute maximum of y = f(x) is f(
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7 .(Type integers or simplified fractions.)

A. The absolute minimum of y = f(x) is f('

4 .(Type integers or simplified fractions.)

A. The local maximum of y = f(x) is f (

.(Type integers or simplified fractions.)

A. The local minimum of y =f(x) is f(

(Type integers or simplified fractions.)

ID: 1.3.51
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14. The function f is defined as follows.
-3x+4 ifx<1
2x-1 ifx=1

f(x) =

(a) Find the domain of the function.

(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.
(a) Th@r‘r_@mbf the function f is |
(Type your answer in interval notation.)

' M 2
(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

@A Thq\ﬁtercept(s} isf/are ( Cf)j ) é""—‘/ e Leoe Lp/)%

(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.

(c) Choose the correct graph below.

) A i) B. (o D.

(d) TheCnge ofthe function fis || { Q@)
(Type your answer in interval notatlon )
Answers (- 00,00)

A. The intercept(s) is/are (0,4)

(Type an ordered pair. Use a comma to separate answers as needep,)

W’ tvﬂc(&ﬂ/

)(/-ﬂ’lrfl = P’/d

/(”_'/,}1"'1\. ~ /L
[1,00) [ 7,}7;:‘,.\ T =)

ID: 1.4.33 7’f /MeX C/J '/__. 257 /14 ¥
B A — L "17"[" Nh

S Zay (=) 0BT
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15. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(@) F(x)=f(x)+3 (b) G(x) =f(x +3) (c) P(x) = - f(x)

1
(d) HO) =f(x+1)- 3 (&) Qx) = Ef(x) ) g(x)=f(-x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) = f(x) + 3 below,

() A

(b) Choose the correct graph of G(x) = f(x + 3) below.

A ) B. (Hc.

(c) Choose the correct graph of P(x) = - f(x) below.

A. () B. (G,

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

16 of 52 10/11/2019, 8:13 AM
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- - -

:fj' 3
\/ 6

o /

(f) Choose the correct graph of g(x) = f( - x) below.

O A. OB.

(g) Choose the correct graph of h(x) = f(2x) below.

O A. OB.
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Answers

ID: 1.5.63
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16.
(a) Graph f(x) = |x - 2| - 3 using transformations. er
(b) Find the area of the region bounded by f and the x-axis 10:
that lies below the x-axis. 8
1
(a) Graph f(x). N
(Use the graphing tool provided to graph the function.) '1-_
2
(b) The area of the region bounded by f and the x-axis that ) i
lies below the x-axis is | square units. ; S 1 T e o
(Simplify your answer.) g e 2‘ Lot S gl eyl
-4
-6
4
-6+

Answers

- c.;‘_ﬁi{‘le—a--._

/_/-5/;;_/4«% - It

ID: 1.5.81 /

Pl Xomtmex = [

— ——

|
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Suppose that a company has just purchased a new. . M)
computer for $2500. The company chooses to (gepret:iate 3200’ )
using the straight-line method for 5 years. (OJ 7 F R
) ¢
(a) Write a linear function that expresses the book value of \
the computer as a function of its age. \\
— 20004
V(x) = | g \
(Type your answer in slope-intercept form.) 3 \
(b) What is the implied domain of the function found in part % \
@)? 2 N
8 S
| @ {000 X
(Type your answer in interval notation.) \
(c) Use the graphing tool to graph the linear equation. .
(d) What is the book value of the computer after 4 years? 1 AN )
“x o«
: R ($)9
(Round to the nearest dollar as needed.) crl 1 2 3 H 5 6 7 %

(e) When will the oomputer be worth $200{} Age (years) .
)f._jgtm--"\ L /'U” 7/})/‘4 fuv /7.2.1) Q/ZSO’J)[;\/Q)

After year(§) {he > computer will be wor _____HH Y % Ao %,

[

' - < ’ “""‘-\.
?‘I?yopoeoa whole number.) Q ({ ) - )( ( NC 4 ( A' 7 anfa__
Answers - 500x + 2500 ,. (Z U \) (2 g oL ) ( /) 6( = (. 0))

o2 (@) —( $)
o P -2 = B (XD
sn00 &) ‘7 — 7 sUs = e ¢
Y —2 U = d_);_ ( )()
‘ j —d<sUn T — Suo X
20004 \j ’Z 5u<, ‘rZyo/ — U (/x,.r 2570 ¢

A -
C j:; ~500 :(~f2 oo N~
1060~ @£ = _

Q%() - ~§ION 7500

O T T ) T e o > gy e
0 | 2 3 4 5 S

Age (years)

Book Value (dollars)

><\

500

ID: 2.1.51
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= XE 1t w27 = Yewvily
18. Find the zeros of the iollowng quadratic fUﬂO'(IOH by factoring. What are the x-intercepts of the graph of the function?
Y= ()
g(x)=x(x+12)+27 7( Tg)(x '7" /) C -
0O oR X7 9-

Select the correct choice below and fill in the answer box to complete your choice.
(Simplify your answer. Use a comma to separate answers as needed.)

} The zeros and the x-intercepts are different. The zeros are , the x-mtercepts )G
DA e ; )//';(‘ 73 —~3 o3 (“Q /\/‘ 7 ¢ /
{7 B. The zeros and the x-mtercepts are the same. They are < (

)(c = Vg A/' —H L,m
Answer: B. The zeros and thg-intercept&are-theﬁa"rhé. They are -3,-9 .
ID: 2.3.23

19. Find the zeros of the quadratic function using the square root method. What are the x-intercepts of the graph of the
function?

g = (x-4)° = 1

Select the correct choice below and fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

© A are

B. The zeros and the x-intercepts are the same. They are

Answer: B. The zeros and the x-intercepts are the same. They are 53

ID: 2.3.29 (X"’% Z"/:
(/’ﬂ / r’/f( N

(-9 = — N N~ =/
//g/,fyf:*/f‘/ (ﬂ }(/‘7"/’/ J /7
Q A/” 3 ‘v’@/&/’”r L//

o
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P acy, bot, c={
20. Find tléeros Jjfany, of the quadratic function us{ng the quai__tjgatpn'nuja What are the x-intercepts, if any, of the graph
_Shie e e (//\/_ ~() T Z) = —v(sé)( 0 LYt Tl
f(x) = 4x -1+2x 4(9 3? .
< ‘/! ){ C‘f WA LAy ,/L,Pl\ ﬁ/}m gﬂ\ ' 3 ) = -——é 3‘»:/{’(_')
- Select the correct choice below and,; If necessary. fill in the answer box to complete your choice. — - =
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) = —2 T -/"_‘———'? e

) A, The zeros and the x-intercepts are the same. They are . f
= 2 ! {5 L f_ =
The zeros and the x-intercepts are different. The zeros are , the x-intercepts = ‘?
) B.
- are . - ,_Z tl ( <
s
(") €. There is no real zero solution and no x-mtercept g 217

(‘Lf_\:‘_ (\m/ f*'—ng,(L __!_’__..I\" = QL&MJ_M:)
s | R
T i A

A~V K2
@ff//(z ,gé—x /é”””

21. Find Qe?eal zeros of the function. What are the x-intercepts of the graph of the functlon'7

Answer: A. The zeros and the x-intercepts are the same They are

g(¥)=x+84x -9

Select the correct choice below and fill in the answer box to complete your choice.

() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

() B.
are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

o235 K+ ZW 1= =
Y G = —TWVX rewte
wye (qid ¢ Sl
(X)) = € 7w 7
Y=o — 5L+ = (’5)@5} (w
gt = 6

("~ 5l = GFX '
)(’L,_('X)( _H!”’/ — (¥ = C\\
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%L{ cr

22, Findt real zeros of the quadraz’ﬂcfunctm ysmg anﬁnethod you w:sh Wl'lat are the x-intercepts, if any, of the graph of |
the fun I'f(X,_ﬁb'-c- g £ —&'C N -—(l)"’(t’('f) —Y(/{L)(-!z) — > (//TGJO

G(x) = 20x2 +x 12 = 2(2s) = e
A = =it o - i
Select the co ﬁonce,ﬁelow and fill in the answer box to complete your choice. = \ _(ﬂ 76 {
¢ o
) A. The zeros and the x-intercepts are the same. They are = —| i’ -7> /
&y
The zeros and the x-intercepts are different. The zeros are , the x-intercepts Y= ( 3 ’
B. N — —
© : = — ( T 3 on /(
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in tﬁé expression. Use a comma to
separate answers as needed.) . 3/»’ C)ﬁ
{ - TGO

¢ é e 3 (&
on
Answer: A, The zeros and the x-intercepts are the same. They are { ( "/x)

- %,% /( =/ (’i(—}j

bre ) =W
IS (CR7
ID: 2.3.81 — gy — ,{f/" /
—— SN i = i~
——— 3 ?_-___.—“_--""—— e = —— B Y —— e
23. Find h@ real zeros of the quadratic function.using any nfethod you WIsh What are the: x—mtercepts, lf any, of the graph of
theh}m:l ? 5

ion?_—
f(X)=x2+x—9 @ié (L\ A L/C/(/g-(— “ TC e, ? “\‘-

Select the correct choice below and fill in the answer box to complete your chonce.

() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are , the x-intercepts

< B. are

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

Answer: A, The zeros and the x-intercepts are the same. They are

ID: 2.3.87 7‘/[)(]: 4 2'1‘/)(_‘ .
aA-1, b= Sy C==9

M S ——

();;’: é 76’ 5 g ,_(/q( \@wo( 7[;/,%[_
Vel ) TYCT1) T )Y
2 Cl)

2 ' 2

14T =437
:.
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G

" For the quadratic function f(x) = X% - 2x - 3, answer parts (a) mf”

through (c). :
164
(a) Graph the quadratic function by determining whether its 124
graph opens up or down and by finding its vertex, axis of :
symmetry, y-intercept, and x-intercepts, if any. 8-}
Does the graph of f open up or down? 1

. X

r‘r’!"'!""r'l’"r""r“l'ﬂ"'r'|_!“t-r—|—‘r‘fT""1“f'f‘j“!—f"r']—f—!"¥—;“Y—l—r—|“Tﬂ—f";_}

down 20 -16 -12 8 4 4 8 12 16 20
up -4
What are the coordinates of the vertex? o
-12-
The vertex of the parabola is ; :
(Type an ordered pair. Use integers or fractions for any -16-
numbers in the expression.) :
-20-

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of f is .
(Type your answer in interval notation.)

The range of fis .
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

25 of 52 10/11/2019, 8:13 AM
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Answers up
(1,-4)

x=1
A. The x-intercept(s) is/are |  3,-1 .
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-interceptis| =3 |.(Type an integer or a decimal.) .. o
}5 (r r ..-J— =
/

(o2~

(= 00,00)
[~ 4,00)
[1,00)

(- 00,1

ID: 2.4.37
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25.

27 of 52

For the quadratic function f(x) = - 2x2 —2x -2, answer parts
(a) through (c). Verify the results using a graphing utility.

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

The graph of f opens (1)
r_I_I""T"T"I"Y"!_r'T_Y"

The vertex of fis " -0 8 6 A
(Type an ordered pair.)

The axis of symmetry is
(Type an equation. Simplify your answer)

Determine the y-intercept. Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

O A. The y-intercept is
(Type an integer or a decimal.)

(O B. There is no y-intercept.
Determine the x-intercept(s). Select the correct choice

below and, if necessary, fill in the answer box to complete
your choice.

(O A. The x-intercept(s) is/are

(Type an integer or a decimal rounded
to two decimal places as needed. Use a
comma to separate answers as
needed.)

(O B. There is no x-intercept.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis
(Type your answer in interval notation.)

The range of f is
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it
is decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

The function is decreasing on the interval
(Type your answer in interval notation.)

.....
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(1) O up.
) down.

Answers (1) down.

(43
-3 pr B

2
S . )
A. The y-intercept is -2 .(Type an integer or a decimal.) L;‘- il i Z ){ _— Z /
T —c /

B. There is no x-intercept. — .[;Z) -r,"z )( 5
Av = / ( o~
i (Y ) o

ID: 2.4.43

10/11/2019, 8:13 AM
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26.

9 e, F Va2 L A

— ——t

a(ﬁafc el (1,-¢) {

Determme the raticfunction- wﬁase graph s glven . The quadratlc functlon which describes the given graph is
below. ( “‘\ f(x) =
a X —I ) , (Type an expression:
SRS »—() f(%“")()(”’)/z
U S S
M _’I/;( f~[><~(><—r() ’

x M,za@oz~t~ 7 MX“{X+U &

o (= a=0)C-1)~ v XAl
(= aly-¢ ﬂf\ =g )

’ “F il ,....ﬂ
(e a=eme (@GR Z

— R
- LT ST
‘ A

=

PR

Answer: 42 _ 5y _ 4

ID: 2.4.49

TERT et S

h— 1:__——-\' o —— A= -—
27. Determine, without graphing, whether the given quadratic function has Z;aximum }Jue or a minimum value and then find
the value. 2. Sia QU Sf}pl s /?f’j‘, ¢ j 4 . A < d,ow.s-]

Does the quadra{ic funct:on f have a2 minimum value or a maxmnum value?

() The function f has a minimum value. Ve-’ f,(&_, r-. /( ))
< _ (

() The function f has a maximum value. g ( 5)

What is this I'nll'Timum or maximum value? & o/l i o ( . (‘b /) WLX f||
[/’(‘;’/,,( /l /(f))

(Simplify your answer.)
Answers The function f has a maximum value.

1 V2= (/ —;?({) 61 )
ID: 2.4.59 Vely 1([ 2N +6)—1)

< m&.( *
290f52 S e NN — LOA12019,8:13 AM
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P bly -

28. Use the rational zeros theorem to.»f/nd a‘l the real zeros of the fo}vnomlal function. Use the zeros to factor f over the real

numbers. ( = l ’ éc S /‘ —+ W :\l.

—_— \
f(x) =x° - %% - 37x- 35 "Z, ,3; CL, ;r/>/— r/ \
Find the real zeros of f,, Select the correct ch ce below and, if necessary, fill in the a sw?r box to complete your answer. Ii,l
(,L)@ ")«;.1/4(-!&: Gl s 5 2 3 E ", t}s. T:-J/é'/ \
A x= X ” ’( - f z; ( \
(Simplify your answer. Type an exact answer, using radicals as needed. Use m{egers or /u S p J

fractions for any rational numbers in the expressson Usea ccjnma to separate answers as

needed.) @ f(;‘é\/__ 1'3() 7 (e ,,//(

(0 B. There are no real zeros. __7 0 —
(e

Use the real zeros to factor f. \._ 2 *ﬁ”ﬂ 0/@ /(—'7 "7‘ 7 ST 7

Yok i =

0 =) | i’ OR X=7_

(Simplify your answer. Type your answek.in fac ored.farm’? ype an exact ans sing radlt:’a]’s'as needed Use mtegers
or-fractions for any rational numbers'in-the expressmn )

Answers A x— -1, 7 ———

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

A
(x+ 1) (x+5)(x-7) \ ‘l -h-S) ]7 "\&V/)%b
Mt
¢ ID: 3.2.45 — : -
————— e e T~ N e __‘:“-\_—‘:—-‘—___"_F—_-;,.-r’_-'_ E

29. Solve the equation in the complex number system(/'L___/(/)( +7 Y =
2 _ -
x“=14x+74=0 a,/J é— /V < A%

The solution set is { } (Use a comma to separate answers as needed.)

Answer: 7-5i,7+51 Q/ﬂ bﬁiV/L’C/éc

~ 2q

ID: 3.3.2 { MZ ——c,///)(-,\/)
()

Y= [Y2/176 =25 /"fk 7%’“4/
2 =754 _
o Y705 Q — IR A
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fog e [ X — 13+ 51K ~F 7 P
'\-dl(rw/(fclc )

30. Find the complex zeros of the followmcg nlorma! function. Write f in factored form.
{ % %,
The complex zeros of f are 2

=% U 47
(Simplify your answer. Type an exact answer, usétg radicals and i as needed. Use mtegers or fractions for any numbers in

f(x) = x> = 13x% + 59x - 87 :'_ 3 3o §7

= | ’-/o 2.4 CC‘

~

the expression. Use a comma to separate answérs as needed.) b 3 6 .;-(/ b J/( = y
= rox 4T - '
Use the complex zeros to factor f. ( X
Lcve <29 . 2
f(x) = A=l - o =

(Type your answer in factored form. Type an exact answer, using radlcals and i as needed. Use mﬁagers or fractlons for

any numbers in the expression.) ,{/” ,_(—-/o)’f; (—/d/ ) 4 'Y(l) (g ,) /ﬂ /c 7_" ?"J

3 Answers 3,6-2i,5+2 VA ( l)
QVSe gy 5+2z)(x s-2i) ) e AV =4 "‘14,‘ o

2.4 — 2 = - TS 2
E\ vd - /Otf’/:/? o~ ‘C?-’*S“-f&%‘

ID:333: — y= 5—.,“;

31. Find tt vertlcal onzontal and obllq & asymptotes if any, for the following rational function.

6x wk— {_f tf”“L/ L/’ .

R(X)=——— ; m—e
Select the correct choice below and fllg\ nswer hoxes W|th|n your ch0|ce. /7 (s 4( >¢ /{” ot/ ‘fu;:,’ .
— ~ b

() A. The vertical asymptote(s) is/are x = ."4"4’& - /1 ‘5 A"J v /7\}“'/ /"',” .

(Use a comma to separate answers as needed.) e S /
() B. There is no vertical asymptote. 6 2 / """// "’/‘7 PO

7 =, (_//

Select the correct choice below and fill in any answer boxes within your choi e o
() A. The horizontal asymptote(s) is/are y = ....- % ) adi édﬂ ‘/ (

(Use a comma to separate answers as needed.) 4 S ] ,..,/7 h/,z/(
() B. There is no horizontal asymptote. - C//
Select the correct choice below and fill in any answer boxes within your ch0|ce - o mae
- A J e Ve 7£'u /ﬂ
7 A. The oblique asymptote(s) is/are y = : q’ v CL /1 l> A / //f

(Use a comma to separate answers as needed.) /¢ Sarm £ &> 1)4’5 f/» v ‘H"/ -7
¢ ) B. There is no oblique asymptote. %/M Ajyé[() 1 %A i (Raard

)76 Jét . 6257M///¢//.1

Answers A. The vertical asymptote(s) is/are x = ' -14 (Use a comma to separate answers as needed.)
A. The horizontal asymptote(s) is/are y = 6 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

ID: 3.4.45

e m—
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32. For f(x) = 5x + 2 and g(x) = 6x, find the following composite functions and state the domain of each.

320f 52

(@) fog (b) gof (c) fof (d) gog
(a) (fog)(x) = (Simplify your answer.)

Select the correct choice below and fill in any answer boxes within your choice.

O A. The domain of fo gis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

() B. The domain of f o g is all real numbers.
(b) (g o f)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

QO A. The domain of gofis {x | }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o fis all real numbers.
(c) (fof)(x) = (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

(O A. The domain of fo fis &l }.
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of fo fis all real numbers.
(d)(g@og)(x)= (Simplify your answer.)
Select the correct choice below and fill in any answer boxes within your choice.

O A. The domainofgogis {| }
(Type an inequality. Use integers or fractions for any numbers in the expression. Use a
comma to separate answers as needed.)

(O B. The domain of g o g is all real numbers.

Answers 30x + 2
B. The domain of f o g is all real numbers.
30x+12
B. The domain of g o f is all real numbers.
25x+12
B. The domain of f o f is all real numbers.
36x

B. The domain of g o g is all real numbers.

10/11/2019, 8:13 AM
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ID: 4.1.23 [Tn st h"f/ :

@aj 7‘@’/ s+r Al 96:) (@X
(vaﬂu
£ 569) [
// G ) = Aoy QN\
‘) ()= 6X

i) fasert S
(]0 Tf)“/
G/ fe))7

7(@4*'2)?
6(?1*2)

C}?m(’f/z D
e
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(?)/‘he function f(x) = 12x — 4 is one-to-one. er
201~
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(a) Find the inverse of f and check the answer.
(b) Find the domain and the range of f and f 1 16
(c) Graph f, f~ ! , and y = x on the same coordinate axes. I?:
- #-
(@)t (0= ]
(Simplify your answer. Use integers or fractions for any 4
numbers in the expression.) i X
, _ , 20 46 12 8 4 ] 4 8 12 16 20
(b) Find the domain of f. Select the correct choice below and, if 4
necessary, fill in the answer box to complete your choice. ]
&
() A, The domain is {x|x# ¥, A2
' B. The domain is {x|x= 3. TS
(0 €. The domain is {x|xs 3 #
1 D. The domain is the set of all real P
numbers. /) e Y
I’ / I:' / )\,f ‘ / Z / V
Find the range of f. Select the correct choice below and, if , <," A_‘ -/) =
necessary, fill in the answer box to complete your choice. e 2 / o k/ : ' \ )( 2.
) C Ve Ve /
() A. The range is {y|y2 } f,-" )( /{ 7 / .
" B. Therangeis {yly# S / y ~f 3 UL"(
9 y y { ~— /Z 7 / -(1 / X )
! . / 7 Uy

() C. The range is {y[ys% mm}. ,’f )( b (/

/ e / 7
-1 .'rf /(,__/ (/ - /

Find the domain of f . Select the correct choice below and, if v

necessary, fill in the answer box to complete your chgice.

(1 D. The range is the set of all real numbers.

A. Thedomainis {x|]x= }. J.f
{7 B. The domain is {x|x# b, {'I
(.7 €. The domain is {x|x < > /

D. The domain is the set of all real
numbers.

Find the range of f~ ! Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. Therangeis {ylys 7 ) }

B. Therangeis {y|y;¢e } \

() D. The range is the set of all real numbers.

.7 C. Therangeis {VlyZ B

(c) Graph f, f~ ! , and y = x on the same coordinate axes. Use-._

the graphing tool to graph the functions. S — ,

350f52

g

7 H
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x+4 s
12

Answers

D. The domain is the set of all real numbers.
D. The range is the set of all real numbers.

D. The domain is the set of all real numbers.

Ay
201

ID: 4.2.53
S e i —

_34. Solve the equation. o _‘("f(”(_/_ £ 57) X
) (207 (2

-x+44 :
g X+ 44 = 556X W 'f{’ﬁl - 5’)(
The solution set is { ). 2\ = »&

(Type an integer or a simplified fraction. Use a comma to separate ansyvers as needed.)
~Yy+(37 = TX
AT~ (5T 2 XL
S = Ix—/3 ¢
—3x =X T A —/3E K
~((x = 13«
—NX _ —/31
—/ — )

(}( — / 1““““D/D/~

Answer: 12

ID: 4.3.73

36 0f 58 ———v
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35. If a single pane of glass c@;’terates 5% Sf the light passing through it, the percent p of light that passes through n
successive panes is given p‘proximatéfy by the function below.

p(n) = 100(0.95)"

(a) What percent of light will pass through 5 panes?
(b) What percent of light will pass through 20 panes?
(c) Explain the meaning of the base 0.95 in this problem.

(a) The percent of light that will pass through 5 panes is approximately
(Round to the nearest whole number as needed.)

(a) The percent of light that will pass through 20 panes is approximately
(Round to the nearest whole nhumber as needed.)

(c) Choose the correct answer below.
() A. Each pane allows only 95% of light to pass through.
) B. Each pane allows only 5% of light to pass through.

() €. Each pane allows only 0.05% of light to pass through.
() D. Each pane allows only 0.95% of light to pass through.

Answers 77
36

A Each pane allows only 95% of light to pass through.

f ID: 4.3.105 /’(/7/ /Ou ((7 QT)

//«~/ v (0 /J/
//f) = /O /ﬂ 55) 5
Pls)=77. 37 7099775
— an B,
(f{y) = 7 \ég,-é//%/c oy
//”/ /C/V[ﬂ 5 P
| Pzs)~ o0 (0- i)

| Hr20) e foo (07 5) “ae A
r‘ LY

CPlan) = 355 89777777
= ey o,
%{lo) = 36 %ﬂiz’xn e J

= ——— B
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36. The price p, in dollars, of a specific car that is x years old is modeled by the function below.

p(x) = 22,285(0.90)"

(a) How much should a 4-year-old car cost?
(b) How much should a 9-year-old car cost?
(c) Explain the meaning of the base 0.90 in this problem.

(a) A 4-year-old car should cost approximately $
(Round to the nearest whole number as needed.)

(b) A 9-year-old car should cost approximately $
(Round to the nearest whole number as needed.)

(c) Choose the correct answer below.

) A. As each year passes, the car is worth 0.90% of its value the previous year.
(_) B. As each year passes, the car is worth 10% of its value the previous year.

() €. As each year passes, the car is worth 0.10% of its value the previous year. , TS )

W)

(> D. As each year passes, the car is worth 90% of its value the previous year. (}\"j A
7

Answers 14,621 ,—’r /C ' I
/ : ko
8,634 v \ &
D. As each year pas?fs the car is worth 90% of its value the previous year. \ (/ A~

e MR 22,285 (0 wv x»

| %)= 5/ 5“(5"“’“ )

' [} = H242sr (0997 A
| (F)= /L/e;z/./?f’f V/
6’7"1 ﬂdc—.ﬂ( L/

\ Ly = = A “/élﬂ I
i
)22 28 (0 70) \
p) ecerc (0
7(a)= Pre21¢ (d,,c/) i | |
%7 3304 658 /7/?;
/pﬂ/""ﬁ?é Y >£(/M(//

38 0f 52 10/11/2019, 8:13 AM
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37. The percentage o(atlents P who have(éumved t years : after(r:),llal diagnos:s of a certain disease is modeled’ by the
/i

e —

function P(t) = 100(0. 4) (/ /(L(/ /OL) ﬂé §/)

(a) According to the model, what percent of patients survive 1yeaFaﬂer1nmal diagnosis?
(b) What percent of patients survive 2 years after initial diagnosis?
(c) Explain the meaning of the base 0.4 in the context of this problem.

(a) According to the model, | i% of patients survive 1 year after initial diagnosis.
(Type an integer or a decimal.)

(b) According to the model, % of patients survive 2 years after initial diagnosis.
(Type an integer or a decimal.)

(c) Explain the meaning of the base 0.4 in the context of this problim Select the correct choice below and fill in the answer

box to complete your choice. f( X - /U0 (_} __ \

qo > = frct alim \A>
() A. As each year passe-‘-\f,m/-%rd fotal patients have survived.

! ) |
| ot
\ ¢ 7

() B. Aseach year passes, % of the previous survivors take the diagnosis.

) C. Aseach year passes, % of the previous yeal‘s survivors have survived.

pe)= /oo (9912 :
Answers:z QK{Z})'—' /‘,\ L{//ﬁ CoqA- alye

--_\-'-"_‘—-—\___,_,—-
C. As each year passes, 40 % of the previous year's survivors have survived.
» e —— ~ - — AL
ID: 4.3.109 y _*Ac—-—'-c_’;L'-;A‘ — ~ _"‘_‘_‘—-——-——h-‘--———‘___—_hh—:_- —_—
i e — NN -s-(g 7 Jé&ﬁ -

38. The function ( YX@ — J" C

D(h)=5 ¢ ~ 032

has been administered. How many milligrams will be present-a ﬂ hour? @r 9 hours 5
. L '

can be used to find the number of milligrams D of a ceﬂa@ug atisin a(patlant's blng.;?stream h hours after the drug -

0/6

After 1 hour, there will be milligrams. (Round to two decimal places as needed.) & O *"‘J l \
i l Ly
After 9 hours, there will be . milligrams. (Round to two decimal places as needéd.) 1 ﬁ/ \C )
' i - z —C }‘f(!) ﬁA J(’r’ér.{ 'J
Answers 3.63 D (l } i S ( (/{ m (s /*'
0.28 R ad r '/"l ent

h(l ~ /f( 0. 3 é(‘)) fo /
(, - L{/ k\\x__f_,v_‘::..r-"// N

O\ =3 6302 Y (F 2

2‘1; !(‘v/gtfl._vv {:/’/ 'J/'bj.!)’_ a w5

—opr-_s ¢ (o)

ID: 4.3.111
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C\a/’ﬂm1 \
) ;/Uﬂ /,44/7‘/0'/

A /lx%f/’;’ >J

39. Determine the domain of f(x) = log 5 (x + 9).
Choose the correct answer below, “2f- e}
I > O 7
(0,00 X+ A
(9,00) Q )( > ’__

O
O
O (- 00,0) —F - % =
O (-9,00) = }//
— G

Answer: (- 9,00)

ID: 4.4.10 Q(' cf/ (o ) :‘{)

=
40. Change the exponential statement to an equivalent statement involving a logarithm. C"’ 3

s MEN)= nf57

The equivalent logarithmic statementis Wn equation.) f\/ é 1{@ s %-7‘/ )
\/1 Se //o«lﬂt‘! vy AN ¥ _/_L'F /(“1/{ o
Answer: x=In 5 ( [ e i Q{\ /5‘7/;__/ _
e O 65’7’50?7377M_,

ID: 4.4.17 —
— u /d 6 '/ = /€ U e _‘-_ —
41. Find the domain of the function. A AP K
h(x)= In (x +6) / \

Sy

(l U, ' _‘\‘
(Type your answer in interval notatlon) {j(] é"? K’—ffx'r lé/ \

Answer: (- 6,00) @ ()( - }'? /%/ ( ) hg /‘ )(_( /3 >y

ID: 4.4.39 e )(4 C >o S

The domain of h is |

X E=6 0%

K- >V

40 ofszx—l//l/i 10/11/2019, 8:13 AM
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42. Solve the equation. ég)) 2 (J’/J(" 5 -

log,(8x+5)=5

S ~
Change the given logarithmic equation to exponential form, ‘Q = X )( S Vf b &
— 2720200 < Bxr g
(Type an equation. Do not simplify.) .3 ( = /( = 5

The solution set is { T 3& —5 fr { o

(Simplify your answer. Use a comma to separate answers as needed.)

27 = ¥x

Answers gy 4+ 5= 2

27 ————

@ < ,

ID: 4.4.91-Setup & Solve

B —— N — — — =
e S —— —

43. Solve the following equation. Write the answer in terms of the natural Ioganthm ' 7‘(
o g( o = Zﬂ ¢/
The solution set is { b /( L(/t 1 (f/ < c"?//

(Type an exact answer in simplified form:Use-integers or fractions for any numbers in the expressmn Use a comma to

t ded. B
separate answers as needed.) , .Sk ‘ \__\\ 7>( (/) h7 /;r’)

gL Huaft Nidg Y X~ V4D, CK {/,/’
! C'.c; (C\(Lk»/ / ){ - /é/l/y’) v/(/(/" \

ID: 4.4.101 e ST 577 ) ,?UuLJ(
= _ rfﬁ 2279 rz70Hf -
e —————
44. Solve the equation. Write the answer in terms of the natural logarithm. q»( l

<,
o X*2 4 | /%1(6 ?(74/ ~ /%(///

The solution set is |
(Type an exact answer in simplified form Use integers or fractions for any numbers in the expressron Use a comma to

separate answers as needed.) ((,! X+ Z/ (€ / ( /( J
Answer: In 11-2 (%X-f&)(// {,7,,(/()
9 : = \/1 e » f . /ﬂ (ﬂ/{)
7 = o —& A -
| Ip4anos /1 7/&/1’\ y | (%—r{ ﬁ i) 7
/C‘- [ ( 5 /A, (/1) P—Z, _/// /
€5 y g— ’d

x_” CL ( /44 (/// —-i) “- OR
X= o

41 0f 52 = e R e, i, Wi =N =
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45. Solve the equation. Write the answer in terms of the natural logarithm,

0. v/ e
K2 Z»( /Z(

560.2x=2 _j__/ j’ C)az.
The solution set is { b C’(/ )< - 0.7 X“‘ "‘/ S/[C/fjg,(;ﬁ

(Type an exact answer. Simplify your answer. Use a comma to separate answers as needed.)

nswer: In /Z./, C) o Z}y /’é"‘"’ /0 5/ ,___O/L P
" .|0.2.4 0 2)(/(&4// /‘a/ﬂ c// @ ___s‘/" k1 {t\ ﬁ;’b/(
g-x (17 < o (0] P iy KT T
ID: 4.4.109 0.2 < /%”/ﬂ (7/J @SC jfﬂ'félkb < wlfur N

e — —_—'-'_C_-F E
46. Solve the equation- er;e\ - Write the answer in terms of the comm ?d / % (

on lo arﬁhm :
Cp z /l/ A ,\"

' 1 Ce
— ragn ‘
The solution set is {|_ o } € Ll 5{7 ) f j

(Type an exact answer in simplified form. Use a comma to sep

arate answe sneedad )
e A $ —7( / 3
P ——— A vy JJ
~  Answer: 5- 13 / iy /& //(‘
/c," . ,L 5 v
ID: 4.4.111 ( ) 4

f"{_ Bols

/@1 (/ r—ﬂ) /ﬁ"/’ 2l (S”_”;{D Cv)/Jﬂ'J) = CU}/; ( 2
r—af-),ﬁn(u) ,/KZV, (381
N -
3,2 ; -
> /AL == (o, / /“’5
.—-'/é _/ﬁ-a 3.2y7
/5'—"»"(

{(M {'J "
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47. Suppose that G(x) = log ,(2x-2) - 3.
(a) What is the domain of G?
(b) What is G(9)? What point is on the graph of G?
(c) If G(x) =2, what is x? What point is on the graph of G?
(d) What is the zero of G?

(a) The domain of G is | | (Type your answer in interval notation.)

(b) G(9) = |

The point | 'is on the graph of G. (Type an ordered pair.)

() FG(x)=2, then x=/

The point 'is on the graph of G. (Type an ordered paiu:c
7 (a =
(d) The zero of G is x = 2 o

Answers (1,00) @ G&(/ - //() < (Z X — C ) > h '\.m\-\\_\

9.-1
513 \

\

(513,2) !
33

\._

~,

ID: 4.4.113
@, G/ = Cos, > /zxi- Y2 @ Loy, (b-2) IFT z /@) o
G(9] = < (5/9/ )3 @)V /Z[_g‘ug;/:‘zfj,_ e/ h
6(// /U //‘? Z)-}/ /U)@//)(""U“FSH _. ['L ~ )*@
C(9) = Cosy (1972 7L """ el

o/= £ T2
(F((/ ?\( 53/4/;_4 LOLY = 2x ~T o

A 6 = lX— L ,AJ/
(r+l = LAl
66 = X

43 of 52
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48. Between 12:00 PM and 1 00 | PM cars arrive at a bank's drlve-thru at the rate of 6 cars per hour (0.1 car per mlnute) “The .

following formula from Gtatistic n be use will arrive.wi in 12:00 P
_.g —“ Z = T s
=0.1t /_ Cp __,/ - )L)-—“/ 1
Sk o o.ié |
- = e e gl r\) ’ )
(a) Determine how many minutes are needed for the probabil 50%. — ’ : '
.——0,.[‘ : \
About minutes are needed for the. probahiy_ty tore reat:h — ( € ) - —( ( — v )
(Round to two decimal places aﬁ ntedad m// /! oL i .
(b) Determine how many mmﬂst‘es are needed for the probability to reé G 180%. C?'l ' = .5V 4
About ' minutes are needed for the probability to reach+§ {% ~0. /¢

- (Round to two decimal places as needed.) _)(‘ f :’7 Lo~/

| {c)Is it possible for the probability to equal 100%? Ez_plain Select thé cgyrect choice below and, if necess ry. ﬁll in the
answer box within your choice. 0. (4 A [t’/ z 4l

i b _C““‘»’ ey A

JZWKC"/ ’ ""/Z /;5"1)/'

() A. Yes, about minutes are neede%o[ the probabilitytt (each 100‘% é( f / g5 ))
| = el BASEEL o
(Raund to two decimal places as needed.) v : \,..4: -, | 66/ ) 4
74

() B. No, because when determining the number of minutes, the exponen Al
changed to a log_arithnz: equauon as ?xe dor?u?f the Iogarlthr[yc d

uétlon cannothe

ﬁx> C=()., 3/ 4/7/f06
L_Lﬂ _(_

Answers 6.93 ~a7.d¢ f,,?/ = ¥ (/ o)
16.09 —0.i1¢ f// bof 29/
B. — . /é» /gﬂ/rddj

No, because when determining the number of minutes; e exponen ‘
logarithmic equation, as the d?rn /n of the logarithmic function is x > 8,

— Ol = 2l f6:05%

—(¢ — 0 ¢
ID: 4.4.123 — ————
— e —— e e -_':....g'?_.._‘ié
49. The formula - lr’ - 20 €r’ — .
D=20¢ 04 /-’Q’/_-——-" —

can be used to find the number ofmilligrams D of a certail rug}hat isina gg_ﬂent‘s bioodstream h hours after the drug -
was administered. When the number of milligrams reaches 4, /Lhe drug is to be administered 2 again. What is the time ‘
between injections? |

The time between injections is : hour(s). /
(Type an integer or a decimal rounded to two decnmal places g& needed.) L/

> _ /
Answer: 4.02 -r;-—g — //é ~ [f (/Z 5;—-6,(/7// .__.4

ID: 4.4.125 ¢?2 =

. — o =
— 0.y ‘/")/‘f = -
44 of 52 \M 10/11/2019, 8:13 AM
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50. Write the expression as a sum and/or difference of logarithms. Express powers as factors.

Y = SV
(V )
In (xam) (Slmpllfy your anmg{_})(/{ly ’f /Zﬂ /é/ __}<) u

e

Respuesta: 1 & %7 j,' M l A ( [/ -"""J() /

8In x+5|n(4—x)

Faemelic (L @8 - LA s >
(Fomcli (L @ = @) 4t

N ) cae o) e

51. Write the expression as a sum and/or difference of Ioganthms Express powers as factors.
Iog[x(x+3)} x>0 'u,j ()((X"fj)) T é(/) /)(—fr)/a’- l
+ 7f g __ Wff

(*3) éo’j[)( Cos (X+3) — Cus [ x+s) G
X(x + 3) - . )
log [ 7 ] = [(Simplify your answer}—— , ok (_/.{ i

*5 - =N - y -
o < Laseg + Los(x43) — 7los (’{ff 7

Answer: log x + log (x +3)-7log(x+5)

(‘?"“[) los (4 ) Cos )~ lostld) Los @)= a b Y
= /v\ Apy) Loy~ Los(B) B -

("/’) < (e ;/z/

52. Solve the Iogarlthmlc equation.

log g(x+9)=log 412 (f(‘)/

Determine the equation to be solved after removing the logarithm. Y# 'ﬁ’ jrant / Z Q’n‘( Wort (
o
s : L — } Su["
(Type an equation. Do not simplify.) X7 Y 9+ /e ﬁ )(

Select the correct choice below and, if necessary, fill in the answer box to complete

() A- The solution set is { } e
(Simplify your answer. Type an exact answer. Use a comma to separa é*answersaj"/ ¢ / /
needed.) ,a 1 ) Wl

() B. There is no solution. ( v 2T 3

Answers x+9=12

A. The solution set is { 3 |}.

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID: 4.6.9-Setup & Solve

-
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53. Solve the logarithmic equatinn.,-ﬁ // d 6() /) 4 ( T( "‘f( . / '
) \ L.)(ﬂ) +CU}/K/
log x + log (x—99)=2 /C-’ /(()(" 79
(o0= X1 g5 Loy 4
Determine the equation to be solved after removing the logarithm. . i

Oz & =99 X0 |
(Type an equation. Do not simplify.) C) e (/< -+ /)G( “/(,b) \

Select the correct choice below and, if necessary, fill in the answer box to complete your chmce
Cr{ o o xred=o
() A. The solution set is { )éf/ ~f Yo U~ [ (H X7 LETVEl7 o \
(Simplify your answer. Type an exact :;mswer Use a comma to separate answers as |

needed.) — / 027_\_
() B. There.is no-solution. ( / o -

&p/zﬁ_k ) /uj (_/) By / [-95) =2 OLv2S
Answers x(x — 99) = 102 [,u) (.f/) _rétﬁ ("g(/‘d) - Ve

X= / 00

A. The solution set is { ‘ f} AD 1

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed )
Los(0) —(*Cu/ﬂ’C/U*f?) 2
< J Lag / — , I
ID: 4.6.17-Setup & Solve ‘- '8 (/V ) tE 7 % ' — \
: = TN &( X }(. - ) — i {

. - — = — r{ w_.t 'Z,..

54. Solve the foIIowmg Iogarlthmlc equahon ,7/ éu [ 6)( 7 G ) («;) ( X~ ) / e ,ﬁu, ))14
log (6x+9) =1+ log (x-7) Lo C(’a’r r) = / /

N7

Select the correct choice below and, if necessary, fill in the answer box to complete your chonce '

/o/’ GXtY

< "
() A. The solution set is { } A7 \
(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed. —
() B. There is no solution. / U 5 '(f 9 P |

V,L/-J)'l )

Answer: A. The solution set |s{ } /U(f )) /(6[/ r} f’fu J:

(Simplify your answer. Type an exact answer. Use a comma to separate answr;és as needBd

/OX =70 T 6L+ }{h

| st /X -G +///w 6)(-%/7’ 75— N

/Oy Tex+ 7T ( /7@)+9) /+/u[,,_})
/oy —6X = 6x /9 ~6X" [{. (g(/q' 7) +G) © /-’f(@//? 75-7)
o= /X// ,s~+4) )+ Lo (12.75)

_f_)_( 1.’;—} ZU)//27 5 )ﬂ/,f /C, //2 (75

r?ﬁ) 4 Ceved o
g5 f' OL/’)W’V g ‘)%
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, Sy ()(+//)//(+JS) \ Cﬁ{tt
55. Solve the following logarithmic eq,fatlon S Za <X y // (/( 5 ) )( />

('/uﬁ:) ~+ Loy (h35)=
log 5(x+11) + log 5(x + 35)=2 y 7 Yy B o )
285 = X D54+ 11A 5(5’!‘ C)( _H«)(Za 8

finalm1314COC067sulllljjRZZ11D-Alfredo Alvarez /
Fl Lo

Select the correct choice below and if necessary lI in the answer box to compiete your choice GH. U Y [
() A The solution set is { & = )‘/( -+ 9’6 X 7S~y _ X:‘: "'5 (7

(Simplify your answer. Type an exact answer Use a comma to se /aarate answers a‘s needed.

(7 B. There is no solution. (,) = X ‘/'V6)<“f‘3 U)(-ZG A )-,v[}(}['/f:\') - L

O - (»<_ + 10) (X+36) ;a.) (- My (=1) =
Respuesta: A. The solution set is { ’}/(//J Zo A¥6T<— ) LAY f) 4D

(Simplify your answer. Type an exact answer. Use a comma to separate,answers as neede » 5

KA L2=L2 = O 7 gn N+ JiwX=01TY bn 5 7

ID: 4.6.21 C)‘N_M OK@E‘G C}/m(c J_ZC:_ ——

e = — —

i — = - e

! 56. Solve the followung exponential equation. Express |rrat|onal solutions in exact form and as a decimal rounded to three

B N

2 =4 :
[ X—G =
, What is the exact answdr? felect the correct choice below and, if necessary, fill in the ar\sT'er E)fg)g k?'npl—te y =
L

| choice. _( ’f'[ % | ,(//) s A W
(_) A The solution set is I{\\ L/ /('5 (A ) A///o)@ j

(Simplify your answer. Type an exact er)
) B. There is no solution. K B ',. e §

¥

What is the answer rounded to three declmal p{aees? Select the correct choice below and, if necessary, fill in the answer |
box to complete your choice.

{2} A, The solution set is {_WW N }
(Simplify your answer. Type an integer or decinfal rounded to three decimal places as
needed.) J

() B. There is no solution. _(.],\ o ]/M‘(" 7[ / l( /

H\\ Respuestas A. The solution set is .(Simplify your answer. Type an exact a W’ér)__

: g = N —

\ A. The solution set is { 8.000 }. P oFt ———— —— S |

(Slmpllfy your answer, Type an-integer.or: dedmaﬁ‘ounded to three decimal places as needed. ) =y ._

/w/
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// "/U.-‘ sle. R

57. Solve the following exponential equation. Express irrational solutions in exact form and'as a decimal rounded to three _

decimal places. ,.-Z? (9,/9 - éz./S/ é., (Ali—/ < A7 /z«;( I‘/

vs X Mr(9) = a5 ) e &5

What is the exact answer? Select the correct choice below and, if necessary, fill in the an?de box to complete you / Q =%
7 2

hoi aliivs
choice. (_( 'H// /Z.[/ /‘;Js&?m 1 M}Z/Lﬁ ‘7(
(A The solution setis { 3 H—_/ /’ /‘(”/}

bwarym ON Qn
(Simplify your answer. Type an exact answer.) ~ . ¢ ﬂ "7? 7
i " Ll-; [f‘/

() B. Th { \ doj kgt €
. There is no solution. =
) N ==mmr N5 mw ks,
What is the answer rounded to three decimal places? Select the- oorrectthoma velow : and if ne )
box to complete your choice. L,r—/
&,J/ =/, (096 0T NSl
) A. The solution set is {

S ﬁ Z PU [ OV
(Simplify your answer. Type an |nteger or decimal rounded to three decimal places as

needed.) I 6, e
"1 B. There is no solution. }( / / =2

Respuestas A. The solution set is na i .(Simplify your answer. Type an exact answer.)

A. The solution set is { 1.161 }

(Simplify your answer. Type an integer or decimal rounded to three decimal places as needed.)

"‘-t

ID: 4.6.43

—— L —

58. Find the amount that results from the given investment. /? - ﬂ yy O
'\._I\- - ____‘\.
$400 invested at 4% compuunde@:aﬂeﬂy after a period of 3 years v (/ Z = L0 o
Aﬁer 3 years, the investment results in $ ' ' » d A . om_
(Round to the nearest cent as needed.) A ( S, @.1”‘ " M— 7 - G)ch/Zw

Answer: 450.73 | / // "( -+ - ) » %(3 &= 35 Yeirs

ID: 4.7.7 Al 4(/0(( | 'f/) "
/-' j/‘(/'a(/'f o .
4-vo( (= e) 2 o/

@L%w- 730012) ‘-

p=tgs0.73 7/
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Noib( (=80 & (4= 1~ B L ATy
59. How long does it takefa lmsmmt@?r ouble in value if it is in esteq\at 10% oorr;pounded quarterly? Compounded f{':
cont[_uously? 200 = /()U//—f o,(Z) ¢ s ~lu€ 7

o 5 4 =T Lol
_At 10% compounded quarterly, the investment doubles in about ﬁn‘a’rs. @;;L — (o C

(Round to two decimal places as needed.) :, Y T wf/_)_c
At 10% compounded continuously, the investment doublesrm bout | ;ga'f:sﬂ: '\"“b‘ 2 - C, ,/JQ}
r| (Round to two decim;J ;Z;ajes—asm J /@7/&/ Qé,k«; (/_r K\(Z) N C
Answers 7.02 /Li") ( - :;_:{;)4(3 l( ;'ﬂn (’{7"“,:;))_/67/(@7 (/£ )) ﬁ,{// < AUE j{/ ¢
6.93 /«.2 B [/[i" é )4{,% L/C;/)/ f% 5“{[4/" /o€ ) \%
\ A(2)< o£2 ) (07,—-( ﬁw, j./*«(( o fu b VA
k\_ 1D: 4.7.35 /Z\ ( 7—/ = et ‘// + 47 7o = )

/ G’ 3/ dud =€

. Wcmv‘rb‘b—l =

' 60. How many years will it take for an initial investment of\?o 000 to grow tq$30 0007 Assume a rate of interest dj 12% i ;

compounde -ccmtmuously > ?\ - l¢¢
& Q //(/ BOOL’J‘-ZUCA'\U G j(/y),‘ 0/24{//

It will take about VEHTE'for gge investment to grow to $30,000. [7¢

_ (Roundtotwodem?alpfacesas_n%ded) ; e = uduu C 7/’!‘ (1/'5) o (2L
X A X ] ) I
Lor ExXAmp( Gvknfmn "\ K700 ;/2420(&» (1) T

Answer: 3.38 f‘/’t V(s 1o
1%

: = =
Y Juv /n:.__ c ~"/L p/4,
e @/I@(,%f [ )= e g T ,37;/7 sl <€ C‘;C
b ([:5) = - f2¢ A;,(g - 5 A

—— 7
-

——

-—r"‘"‘ =1 T

61. The population of a colony q; mosqutwessobey&thg Iaw of uninhibited growth. Use this informati

on fo answer pans (@)

through (©). f é‘é—

(a) IjN is the population of the colony and tis the time in days, express N as a function of t. Consider Ny is the onglnal

amount at t= 0 and k# 0 is a constant that represents the growth rate. @ 4(() /L ( \
Nt = (Type an expression.using t as the variable and in terms o 7 ¢ = |

—Ithere are 1000 mosnagrtoasl ltially and
[ 700 = /0v o ('-)
/ 3o = rfeuwr C

e rvoT |

@ﬂ'hﬂ population of a colony oﬂﬁ’osqwtoes obeys the law of),lrd%bried g
t

re are 1300 after 1 day, what is the size of the colony aﬂ@fyds/

Approx:mately mosquutoes
(Do not round until the final answer. Then round to the nearest whula n

5 = = S
c) I:}ow long is it until there argé 80,000 naqultaea ___
< ST Ly A"

About | _ |days. ) > ’(‘, > f/
(Do not round until the ﬁn;l énéwer Then round to the nearest tenth as needed =
SO | e % é(c’{ j¢ ‘fz/(c»/ji K
Answers oKt /{/@ /OUUG ) £ =
2856 g / 5 2062 ) ///
/Aﬁ/( /) /(/uof / G (4_) (5 < LGl L byp
172 Cr @i = zygfc e S69, 86 ¥ _’_{\/q// = 2624l (1/
o - e A () = L6 &
ID: 4.8.5 ,7 % 000 - /ow 600 & o zv £ 7?&%«7 ] Iy,
o) o oo (7. /4766 ¥9 =T e

[ 3 -
(0= & L2629 €

M(Gu) = A € S
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J( !30/"(5 7).~ Cf(yaf/
62. The half-life of carbon-14 Ih—ﬁﬁ_ﬂﬂ' years If a pi piece of Eharcoal made from the wood (:{? tree shows only 5‘%“6?“1&1 -
carbor@fxpected in living matter, when did the tree die? G\E /o ( 5 ) >6UJ£‘ \“-'

,_[— A ﬁ w .
The tree died about years ago. /é' (e () 56 X \' eé /) ( fo,( %/

(O]
(Do not round until the final answer. Then round to the nearest whole.numéer) 3:7;;

Answer: 3993 _ “oif £ ) JW’ ‘/é ( g/) ) ’é-
j(éf) __,L’ (E) “"U | E‘_—_({/L/ T Stus
ID: 4.8.11 L/(( gl)ﬂ i‘:‘ ﬁ;('{) ( Cow ,ﬁ.gc/) Ha =
, Ao — CA) ey
63. Uninhibited gmwth can be modeled by exponential functions élherthan Alt) =Ag e K For example, if a - an(initial popuf" tion
| =

I £ Sl

______""—'—-—
P requires n units of time to triple, then the function P(t) = P0(3) models the size-of the population at time t. Aﬂ inse

f opulation grows exponentially. Complete the parts a through d below. o/
! pop g p y. p p g //é %) ( 2 / A
|ally e.

(a) If the population triples in 20 days, and 40 insects are present i an- exponenha!funetlanef lhf;Z

t D2
P()= P0(3)- that models the population. b . K()(() Z/'/(? (3) K ) e /

' P@t)=| Tl ) f(?/ z 7() [3/
(b) What will th@ah?:og;ﬂ‘di/fs days? A7) = 5“&) ( 1 [(// 22/

A1)z GCWC'“
/%%/ ~ 55 Jado-

The population will reach 560 in ' days —
(Round to one decimal place as needed.)

—'h-.___r—...,

The population in 48 days will be |
(Round to the nearest integer as needed.)

(c) When will the population reach 560?

7 .

; t =

(d) Express the model from part (a) in the form A(t) = Ay ¢ = ' 2
I[ / : - (—5 e —

P(t) =

(Use integers or decimals for any numbers in the expressmn Round to three deci 23] places as nead

Answers t ﬂﬁn /C// / 'g ) 2o/
4032 / j / Ve / /é /Z, (3 )
559 ; n/ 7(/ 3)
[ PRS- B 4. ((-5 i) 2\
(/ o Ck

48.0 A
0.055t Y A A / 5) ‘_.ffﬂ/% )

40¢ ) . %
Sy A, Y, (‘/‘I. 306
\ ID: 4.8.32-GC /(4 (/ / = ' [/(]C D€L |
) 4.8, . -._--— e sl CIL 0!\'9 ‘é )

i
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64. Solve the system of equations. If the system has no solution, say that it is inconsistent.

7 ay -yt 3)(~Z‘7 2/ __,,:}._’K‘ ii
{ X -2y= ( /&,<,ﬂ ) 2 z (3 (3
5x +y =16 —
! T - )’r q,/)/ "3\\ S%é/*}

Select the correct choice below and lf necessary. fill in any answer boxes-within your choice.

-9/

() A. The solution of the system is x = andy= N . .
(Type an integers or simplified fractions.) )) (3} —l 7 <

(> B. There are infinitely many solutions. Using ordered pairs, the solution can be written as ﬁ )

i

{(x yx= ., yanyreal number} / ) /

(Simplify your answer. Type an expression using y as the variable as needed)/éf { »/ P l - P s )
(0 €. The system is inconsistent. :

—d M X S 2
Answer: A. The solution of the systemisx= 3 andy= "/ - /:j :,(
(Type an integers or S|mp lified frachons ) — L
o~ e /_—— =
a )/5 )ﬂ// 12
ID: 6.1.33 (\_( / I
\"_______ — __-q-__ — ___,s_.p-—'—'-q_.._ = —
65. Solve the given system of equatlons If the system has no solutlon say that it is incon }lent /
X=-3y+4z= 12 4/0 /744,/,,( € IM‘(/ !/-/ P /
2x + y+ z= L}_ /Z "
-2x+3y=-3z=-13 mj f -
. 'j e

Select the correct choice below and fill in any answer boxes within your choice.
) A. The solution is x = Y= ,and z= . (Type

integers or simplified fractions.)
) B. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{(x ¥.Z) | X= T , Z any real number}

(Simplify your answers. Type expressions using 2z as the variable as needed. )
() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as

{(x,y,z) | x= ,yanyreal number, z any real number}.

(Simplify your answer. Type an expression using y and z as the variables as needed.)
() D. The system is inconsistent.

Answer: A.
The solution is x = 2 VY= -2 ,andz= 1 | (Typeintegers or simplified

fractlons}
24, Pds ¢ W/{ Ve X C ) g

ID: 6.1.45 }fl/(’[ ( I ,j)) \ S
~/ O < 2 '\ N\

o ¢ ©f-2] (i//?/ 2/ (2,3 1)

O o |
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66. Find the sum of the sequence.

/*6 /5({)""‘/)'1'/!({) f) "f(/g/‘// 7(//‘0-—(// '7‘(/5,7,_((/ '\\

Y (8k-4) \
. (77> on 10 6)-))
‘H_“\\ Q 4 0 C /C /Q( — . T

- UM 5 |
Z(sk o= ]
/974»’! /’/“/ St per o g

#—‘-sf\

f“*“f) Rty

Forl Exam

/4A«wacﬁop
Jd1 a STupévy

Loany iy 194
e, ==
= e

Answer: 144

ID: 7.1.73

67. Expand the expression using eblnomlal theorem b

x+2)°
(x+2)°= |

Answer: y8 1 12x5 + 50x* + 160x° + 240x° + 192x + 64

ID 7517

C(x)(z) + <—6<)&/+ C iy C(&M +C ) C(x)/df Seros

ale4 +W)m ( Is)) + @2) G N7 bs) (x i) + @F
(©) <)(3 0+ 2,

¥ 412X Gox” e Jeox e thox I ACE D

= —@_‘_:-_ . C /C (L af
| /G/W“/é //ﬁﬁ 4s }/ € by O_Lz e
& /44/4/ //’/’ /7(%/ CV S -
[ ¢ | V.2 nery et g
G S /o/’/"i %94 P,Jf// - 20
_/ //,zh,/c/ //”/7’ /7</ aL, ¢ = e
\ Q)) /}’/“"/l /6{/’) //C/ Cale ¢ — @

\C\)ma pee, %(K b, (= (
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